1MA0 Practice papers: DIY mark scheme – Version 1.0 

	

	Question
	Working
	Answer
	Mark
	Notes

	1
	(a)
	
	18
	1
	B1 cao

	
	(b)
	
	20
	2
	M1 for 5 ( 4

A1 cao



	
	(c)
	80  ÷  12 = 6.66 
	7
	2
	M1 for 80  ÷ 12 or 7 ( 12 = 84

A1 cao



	2
	(a)


	120 ÷10 = 12

12×30 = 360
	£360
	2
	M1 for 120 ÷ 10 ( 30 (oe)
A1 cao



	
	(b)


	6 packs of 10 costs £180

8 single tiles cost £29.52
	£209.52
	3
	M1 for attempting to work out the cost of  6 or 7 packs or 68 tiles in any combination

A1 ft correct cost for their purchase

A1 cao



	3
	(a)
	30 + 8×4
	62
	2
	M1 for 30 + 8 × 4 or attempt to add four 8s to 30 
(allow one error in addition)

A1 cao



	
	(b)
	110 – 30 = 80

80 ÷ 8 = 10

OR

110 – 62 = 48 

48 ÷ 8 = 6

4 + 6 = 10
	10
	3
	M1 for 110 – 30 (= 80)

M1 (dep) for ‘80’ ÷ 8 or 

A1 cao

OR

M1 for 110 – 62 (= 48)

M1(dep) for ‘48’ ÷ 8 = 6

A1 cao


	*4


	
	Paint R Us  
6 × 2.19 (= 13.14)

Deco Mart  
9 × 1.80 (= 16.20)

16.20 × 0.9 (= 14.58)


	Paint R Us


	6


	Paint R Us

M1 for ‘9 ¯ 3’× 2.19 

A1 for 13.14 

Deco Mart

M2 for
[image: image1.wmf]100

90

 × ’16.20’ oe    (M1 for
[image: image2.wmf]100

10

 × ’16.20’ oe )

A1 for 14.58

C1 (dep M1) for comparison of cost of 9 tins at Paint R Us with cost of 9 tins at Deco Mart leading to a correct deduction



	5
	
	6 × 4.5

27 ÷ 1.44

19 × £12.87
	£244.53
	4
	M1 for 6 × 4.5

M1 for “6 × 4.5” ÷ 1.44 

M1 for “19” × £12.87

A1 cao



	6
	
	2.4 ÷ 0.3 = 8 

or 1.8 ÷ 0.3 = 6

8 × 6 = 48

48 ÷14 = 3.42…

Or

2.4 × 1.8 = 4.32 

0.3 × 0.3 = 0.09

4.32 ÷ 0.09 = 48

48 ÷ 14 = 3.42…


	4
	5
	B1 for correct conversion of units

M1 for correct attempt to find how many rows of tiles using their units consistently.

M1 for complete correct method to find the number of tiles needed.

M1 for number of tiles ÷ 14 and round up

A1 cao for 4 packs of tiles supported by correct working

Or

B1 for correct conversion of units

M1 for correct method for area of wall and area of tile using their units consistently.
M1 for complete correct method to find the number of tiles needed.

M1 for number of tiles ÷ 14 and round up

A1 cao for 4 packs of tiles supported by correct working

	7


	
	180 ÷ 30 = 6
9 + 6 + 0.5 + 0.5 = 16


	16:00
or 
4 p.m.

	3


	M1 for 180 ÷ 30 (= 6) or 30 + 30 +…to a total of between 150 and 210 exclusive

M1 for  9 + ‘6’ + 0.5 + 0.5

A1 for 16:00 or 4 p.m. (accept 4 o’clock)

OR

M1 for 60 bricks used or 120 bricks left at 11 am

M1 for 45 bricks used between 11 30 a.m. and 1 p.m. or 75 bricks left at 1 p.m.
A1 for 16:00 or 4 p.m. (accept 4 o’clock)

(SC B1 for 3 pm or 3 30pm if M0 scored)

(SC B1 for 7 hours needed if M0 scored)


	*8
	
	
	Not enough, 

needs £133
	5
	M1 for splitting the shape (or showing recognition of the “absent” rectangle) and using a correct method to find the area of one shape

M1 for a complete and correct method to find the total area

M1 for a complete method to find 70% of 19 (= 13.3) or 70% of their total cost or 70% of their area

A1 114 (m2) and (£)133 
or 114 (m2) and (£)13.3(0) and 108 (m2)

C1 (dep on M2) for a conclusion supported by their calculations   

OR

M1 for a complete method for the number of tins required for one section of the area of the floor

M1 for a complete method to find the number of tins for the whole floor

M1 for a complete method to find 70% of their total number of tins and multiply by 19

A1 (£)133

C1 (dep on M2) for a conclusion supported by their calculations  



	9
	
	
	15, 4.5
	3
	B1 for 15
M1 for (23 − 5) ÷ 4

A1 for 4.5 

N.B. Answer can be either way round



	*10


	
	3 × 4 = 12

12 m2 = 120000 cm2
20 × 20 = 400 

120000 ÷ 400 = 300

300 ÷ 10 = 30

OR

3m = 300cm, 
4 m = 400cm

300 ÷ 20 = 15, 
400 ÷ 20 = 20

15 × 20 = 300

300 ÷ 10 = 30

30 × 34.99 = 1049.70
	No with working
	6
	B1 for a correct conversion of 3 m or 4 m to cm or 20 cm to m or a correct and appropriate area conversion.

M1 for 300 × 400 (=120000) or 3 ×4 (=12) 

M1 for 20 × 20 or 0.20 × 0.20

M1 for ‘120000’÷ ‘400’ or ‘12’ ÷ ‘0.04’

A1 for 1049.7(0)

C1 (dep M1) for comparison and correct deduction using their total cost with supportive working

OR

B1 for a correct conversion of 3 m or 4 m to cm or 20 cm to m or a correct and appropriate area conversion.

M1 for 300 ÷ 20 or 400 ÷ 20 or 3 ÷ 0.2(0) or 4 ÷0 2(0)

M1 for 300 ÷ 20 and 400 ÷ 20 or 3 ÷ 0.2(0) and 4 ÷0 2(0)

M1 for ‘15’ × ‘20’

A1 for 1049.7(0)

C1 (dep M1) for comparison and correct deduction using their total cost with supportive working



	*11
	(a)
	400 ÷ 59.99 = 6.6(7) rolls 

6 rolls cover 
6 × 1.5 × 5 = 45m2 

Floor area 
4.5 × 6 + 4.5 × 3 = 40.5m P2P (< 45) 

3 ÷ 1.5 = 2 

(4.5 + 4.5 + 9 + 9) ÷5 = 5.4 

5.4 → 6rolls 

6 × 59.99 = £359.94 
(< £400) 
	Yes,

with correct figures
	4
	M1 for correct method to find number of rolls for £400 

M1 for correct method to work out coverage for found number of rolls. 

M1 for correct method to find area of floor 

C1 for yes with 40.5 and 45 

OR 

M1 for an attempt to fit widths 
M1 for a correct method to find total number of rolls 

M1 for correct method to find total cost of rolls 

C1 for yes with (£)359.94


	12
	(a)
	
	Triangle 
constructed


	2
	M1 for intersecting arcs drawn of radii 5.3cm and 6.5cm

A1 for a fully correct triangle

[SC: B1 for correct triangle with no arcs]

Ignore any rectangles



	
	(b)
	
	Yes with
3 cm by 2 cm rectangle inside triangle


	2
	M1 for a rectangle drawn inside their triangle with one side either 2 cm or 3 cm in length 

OR 

a line drawn parallel to one side of their triangle 3 cm or 2 cm from the side

A1 for a 3 cm by 2 cm rectangle drawn inside triangle or ft from an incorrect triangle in part (a)

[Note: a rectangle drawn of dimensions 3+ cm by 2+ cm is acceptable] 



	13
	
	
	Correct region
	3
	B1 for full line drawn 1.5 cm from edge of patio and parallel to it

B1 for full arc of circle radius 3 cm from the centre of the pond

B1 ft for shading region to the right of their vertical line and outside the arc of their circle with correct centre



	14
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135 ÷ 20 = 6.75
(=7 bags)

7 × 4.99

OR
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	34.93
	4
	M1    for 
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          or 
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 or 135 seen

M1   (dep) for ‘135’÷ 20 or 6 or 7 seen

M1    (dep on previous M1) for ‘6’ × 4.99 or ‘7’ × 4.99

A1    cao

[SC: M1 for (12 × 9 + 6 × 9) ÷ 20 (= 162 ÷ 20) or 8 or 9 seen

        M1 (dep) for ‘8’ × 4.99 or ‘9’ × 4.99

OR   M1 for (18 × 9 – 6 × 9) ÷ 20 (= 108 ÷ 20) or 5 or 6 seen

        M1 (dep) for ‘5’ × 4.99 or ‘6’ × 4.99]



	15
	
	180 ÷ 9 × 1:180 ÷ 

9 × 3:180 ÷ 9 × 5

=20:60:100

Not enough cement

(but enough sand and enough gravel)

OR

1 × 15:3 × 15:5 × 15

 =15:45:75
15 + 45 + 75 = 135 
(< 180)

Not enough cement (to make 180kg of concrete)


	No + reason
	4
	M1    for 180 ÷ (1 + 3 + 5) (= 20) or 3 multiples of 1: 3: 5

M1    for 1 × ’20’ or 3 × ’20’ or 5 × ’20’ or 20 seen or 60 seen or 100 seen

A1    for (Cement=) 20, (Sand=) 60, (Gravel=) 100

C1     ft (provided both Ms awarded) for not enough cement oe

OR

M1    for (1 × 15 and)  3 × 15 and 5 × 15  or  9 × 15 
or sight of the numbers 15, 45, 75 together.

M1    for ‘15’ + ‘45’ + ‘75’

A1    for 135  (< 180)

C1     ft (provided both Ms awarded) for not enough cement (oe)


	16
	(a)


	360 ÷ 60 = 6

300 ÷ 60 = 5

6 × 5 =


	Yes and 30
	3
	M1 for dividing side of patio by side of paving slab

e.g. 360 ÷ 60 or 300 ÷ 60 or 3.6 ÷ 0.6 or 3 ÷ 0.6 or

6 and 5 seen (may be on a diagram) or 6 divisions seen on length of diagram or 5 divisions seen on width of diagram

M1 for correct method to find number of paving slabs

e.g. (360 ÷ 60) × (300 ÷ 60) oe or 6 × 5 or 30 squares seen on diagram (units may not be consistent)

A1 for Yes and 30 (or 2 extra) with correct calculations

OR

M1 for correct method to find area of patio or paving slab 

e.g. 360 × 300 or 108000 seen or 60 × 60 or 3600 seen 
or 3.6 × 3 or 10.8 seen or 0.6 × 0.6 or 0.36 seen

M1 for dividing area of patio by area of a paving slab 
e.g. (3.6 × 3) ÷ (0.6 × 0.6) oe (units may not be consistent)

A1 for Yes and 30 (or 2 extra) with correct calculations

OR

M1 for method to find area of patio or area of 32 slabs

e.g. 60 × 60 × 32 or 360 × 300

M1 for method to find both area of  patio and area of 32 slabs

e.g.. 60 × 60 × 32 and 360 × 300 (units may not be consistent)

A1 for Yes and 115200 and 108000 OR

Yes and 11.52 and 10.8



	
	(b)
	   1726

 25890

 27616

8

6

3

2

2

4

1

8

9

3

7

1

6

1

2


6

2

6

1

6

800

60

3

30

24000

1800

90

2

1600

120

6

24000 + 1800 + 90 + 1600 + 120 + 6 =  27616


	276.16
	3
	M1 for complete correct method with relative place value correct. Condone 1 multiplication error, addition not necessary.

OR

M1 for a complete grid. Condone 1 multiplication error, addition not necessary.

OR

M1 for sight of a complete partitioning method, condone 1 multiplication error.  Final addition not necessary.

A1 for digits 27616

A1 ft (dep on M1) for correct placement of decimal point after addition (of appropriate values) 

(SC: B1 for attempting to add 32 lots of 8.63)



	17
	
	
	10752
	4
	M1 for splitting the pentagon (or show the recognition of the “absent” triangle) and using a correct method to find the area of one shape

M1 for a complete and correct method to find the total area

M1 (dep on at least one prev M1) for multiplying their total area by 2.56 (where total area is a calculation involving at least two areas)

A1 cao



	18

	
	300 ÷ 25 or 3 ÷ 0.25 = 12

500 ÷ 25 or 5 ÷ 0.25 = 20

12 × 20
	240
	3
	M1 for 300 ÷ 25 or 3 ÷ 0.25 oe  OR 500 ÷ 25 or 5 ÷ 0.25 = 20
M1 for ‘12’ ×’ 20’

A1 cao

OR

M1 for 0.25 × 0.25 (= 0.0625) 
or 3 × 5 (=15) 
or 25 × 25 (= 625) 
or 300 × 500 (= 150000)

        
  

M1 for “15”÷”0.0625” or “150000”÷”625”

A1 cao



	19
	
	250 ÷ (2.35 + 0.1) 
= 102.04…

102 × (2.35 + 0.1) 
= 249.9

249.9 + 0.1 = 250

OR

250 – 0.1 = 249.9

249.9 ÷ (2.35 + 0.1) 
= 102

OR

(2.35 + 0.1) × 100 = 245

245 + 2.45 = 247.45

247.45 + 2.45 = 249.9

249.9 + 0.1 = 250

OR

0.1n + 2.35(n – 1) = 250

2.45n = 252.35

252.35 ÷ 2.45


	103
	3


	M1 for 250 – 0.1 or 2.35 + 0.1 or 2.45 seen 
or 250 ÷ (a combination of fences and posts)

M1 for 250 ÷ (2.35 + 0.1) or (250 – 0.1) ÷ (2.35 + 0.1) 
or 102 seen

A1 cao

OR (build-up method)

M2 for a combination of at least 100 fences and at least 100 posts, eg (2.35 + 0.1) × 100 (= 245)

(M1 for a combination of at least 10 fences and at least 10 posts)

A1 cao

OR (algebraic method)

M1 for 0.1n or 2.35(n – 1)

M1 for 0.1n + 2.35(n – 1) = 250

A1 cao



	20
	
	
	25
	4
	M1 for 600 ÷ 4 (= 150)

M1 for 4500 ÷ “150” (= 30)

M1 for 750 ÷ “30”

A1 for 25 with supporting working

OR

M1 for 4500 ÷ 750 (= 6)

M1 for 600 ÷ 4 (= 150) or 600 ÷ “6” (= 100)

M1 for “150” ÷ “6” or “100” ÷ 4

A1 for 25 with supporting working

OR
M1 for 4500 ÷ 750 (= 6) or 750 ÷ 4500 (= 
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A1 for 25 with supporting working


	21 
	
	π × 5 × 1.80
	28.27
	3
	M1 for use of π × x (with x = 5 or x = 2.5) 
or 2 × π × x (with x = 5 or x = 2.5)

M1 for   π × 5 × 1.8(0)    or   2 × π × 2.5 × 1.8(0) 

A1 for 28.26 or 28.27 or 28.28 or 28.3(0) or 28.8(0)



	22
	
	 ((6)2 ( ((5)2  

= 113(.0973…) ( 78.5(398…)

= 34.55751919

	34.5 – 34.6
	3
	M1 for   ((6)2  oe   or  ((5)2 oe  or 113… or  78.5…

M1 for   ((6)2 ( ((5)2  oe

A1 for  34.5 – 34.6



	23*
	
	Common partitioning:

1. 14 + 9 + 9 +12 (=44)

2. 14 + 14 + 8 + 8 (=44)

3. 12 + 10 + 12 + 10 (=44)

4. 9 + 14 + 8 + 13 (=44)

5. 12 + 12 + 8 + 8 + 4 (=44)


	No supported by working
	4
	Method 1 (partitioning)

M1 for method to find paving stones for 2 (or more) rectangles

M1 (dep) for addition of paving stones for complete path

A1 for 44 (tiles)

C1 (dep on M1) ft for correct decision supported by working

Method 2 (area 1)

M1 for 7×5 − 6×4 (=11) oe 

M1 (dep) for “11” ÷ 0.52 (=44)

A1 for 44 (paving stones)

C1 (dep on M1) ft for correct decision supported by working

Method 3 (area 2)

M1 for 7×5 − 6×4 (=11) oe 

M1 for 0.52 × 35 (=8.75)

A1 for 11 and 8.75

C1 (dep on M1) ft for correct decision supported by working

Method 4 (using perimeter)

M1 for (6 + 4 + 6 + 4) ÷ 0.5 (=40)

M1 for “40” + 4

A1 for 44 (tiles)

C1 (dep on M1) ft for correct decision supported by correct working



	24
	
	
	required region
	4
	M1   arc radius 5 cm centre C      
M1   bisector of angle BAD          
M1   line 3 cm from DC               
A1   for correct region identified (see overlay)




National performance data from Results Plus

	
	Source of questions:
	
	
	
	
	
	Mean score of students achieving grade:

	 Qn
	Spec
	Paper
	Session
	Qn
	Topic
	Mean score
	Max score
	Mean %  C
	ALL
	C
	D
	E
	F
	G

	1
	5AM1
	1F
	1311
	Q02
	Area and perimeter
	4.25
	5
	99
	4.25
	4.94
	4.58
	3.82
	2.94
	2.25

	2
	5AM2
	2F
	1106
	Q07
	Money calculations
	2.52
	5
	93
	2.52
	4.67
	4.00
	2.88
	2.25
	1.08

	3
	1MA0
	2F
	1211
	Q10
	Substitute into expressions
	3.41
	5
	93
	3.41
	4.64
	4.12
	3.34
	2.42
	1.56

	4
	1MA0
	2F
	1211
	Q16
	Percentages
	3.44
	6
	91
	3.44
	5.44
	4.62
	3.21
	1.61
	0.63

	5
	5AM1
	1F
	1111
	Q22
	Decimals
	1.10
	4
	83
	1.10
	3.33
	1.83
	0.76
	0.39
	0.08

	6
	5AM1
	1F
	1306
	Q20
	Area
	2.14
	5
	80
	2.14
	3.99
	2.27
	0.84
	0.37
	0.15

	7
	1MA0
	2F
	1211
	Q19
	Time calculations
	1.67
	3
	76
	1.67
	2.28
	1.98
	1.64
	1.20
	0.76

	8
	1MA0
	1F
	1311
	Q24
	Area
	1.58
	5
	74
	1.58
	3.72
	2.07
	0.71
	0.15
	0.08

	9
	1MA0
	2F
	1406
	Q13
	Area
	1.01
	3
	66
	1.01
	1.99
	1.49
	1.07
	0.65
	0.32

	10
	1MA0
	2F
	1211
	Q14
	Area
	1.62
	6
	60
	1.62
	3.61
	2.03
	1.05
	0.40
	0.14

	11
	5AM1
	1F
	1311
	Q22
	Area
	1.39
	4
	59
	1.39
	2.34
	1.14
	0.70
	0.14
	0.25

	12
	5AM2
	2F
	1306
	Q14
	Constructions
	1.50
	4
	57
	1.50
	2.29
	1.47
	1.27
	0.67
	0.37

	13
	1MA0
	1H
	1406
	Q08
	Loci
	1.93
	3
	55
	1.93
	1.64
	0.64
	0.15
	
	

	14
	1MA0
	1F
	1211
	Q25
	Area
	0.65
	4
	54
	0.65
	2.17
	0.63
	0.12
	0.03
	0.01

	15
	1MA0
	1F
	1211
	Q29
	Ratio
	0.74
	4
	51
	0.74
	2.05
	0.85
	0.31
	0.10
	0.03

	16
	1MA0
	1H
	1206
	Q02
	Area
	3.41
	6
	49
	3.41
	2.94
	1.76
	0.95
	
	

	17
	1MA0
	2H
	1306
	Q08
	Area
	2.22
	4
	47
	2.22
	1.86
	0.55
	0.09
	
	

	18
	5AM2
	2F
	1206
	Q07
	Area
	0.86
	3
	46
	0.86
	1.39
	0.89
	0.45
	0.24
	0.08

	19
	5AM2
	2H
	1206
	Q03
	Decimals
	1.72
	3
	45
	1.72
	1.35
	0.79
	0.22
	
	

	20
	1MA0
	1F
	1411
	Q21
	Ratio
	0.91
	4
	42
	0.91
	1.67
	1.09
	0.59
	0.31
	0.20


	21
	1MA0
	2H
	1303
	Q05
	Area of a circle
	1.31
	3
	36
	1.31
	1.08
	0.46
	0.10
	
	

	22
	1380
	2F
	1106
	Q27
	Area of a circle
	0.27
	3
	29
	0.27
	0.87
	0.25
	0.06
	0.01
	0.01

	23
	1MA0
	1F
	1511
	Q15
	Area
	0.65
	4
	29
	0.65
	1.14
	0.67
	0.38
	0.15
	0.20

	24
	1MA0
	1F
	1303
	Q21
	Loci
	0.33
	4
	18
	0.33
	0.73
	0.29
	0.11
	0.04
	0.02

	
	
	
	
	
	
	40.63
	100
	41
	40.63
	62.13
	40.47
	24.82
	
	


Suggested Grade Boundaries B – G

	C
	D
	E
	F
	G

	51
	32
	20
	12
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